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ROUND1-G1
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T 6A [ 7T 7A | TEC  ATH Total
1 |l # DAV (7.4) (7.6)](8.2) (8.2)] 8.0 8.0 7.4 7.6|8.0 7.6 16.38 6.96 23. 34
2 |k EHiE A (6.6) (6.8)|(8.0) 8.2)| 7.4 7.2|7.2 76|72 7.0 15.26 6.54 21.8
3 |k Et AT (6.8) 7.0 |(7.8) (1.4 7.6 7.4[7.0 (6.H|7.2 7.2 15.26 6.48 21. 74
4 [E S DAV (6.4) 6.8 7.4 (7.6)] 7.0 7.0]6.6 (6.4|(7.6) 7.6 14.7 6.42 21.12
5 |KRE Bk AT (6.4) (6.6)|(8.0) (7.6)] 6.8 6.8 7.2 7.2|6.4 6.6 14.28 6.18 20. 46
6 |k SR Fr by (6.0) 6.6 |(7.6) (7.4 6.6 7.2|6.4 7.0]6.2 (6.4 13.44 6.24 19. 68
T WEHE HEORER A 6.0 (6.0[(7.0) 6.4[6.4 6.2|6.6 (6.6][(5.8 6.0 13.3  5.58 18.88
8 |t FEE Nt IV GV (5.6) 6.0](6.8) 7.0]6.0 (5.8)]6.8 (7.2)] 6.0 6.0 13.16 5.7 18. 86
9 |FEEF FENE I IEA (5.8) 6.2]6.2 6.46.4 6.2|58 (6.0]6.4 (6.6) 12.88 5.64 18. 52
10 [Bes HEA Fr Y (5.6) 6.2 (6.4 6.6]6.0 (5.8]6.0 (6.8]6.2 6.0 12.74 5.64 18. 38
11 (WA sk (0.0) (0.0)](0.0) (0.0)f 0.0 0.0[0.0 0.0]0.0 0.0 0.0 0.0 0.0
ROUND1-G2
JEAE 4 Hif ¥4 IT 1A | 2T  2A | 3T  3A | 4T  4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
1 |HH Nyt A2 A 7.8 (8.0)[(8.2) (8.6)]82 84|80 80|72 8.0 16.8 7.32 24. 12
2 |ER W AT 7.6 7.8 (8.0 (8.2 7.8 82|72 7.6|7.2 (7.4 15.82 7.08 22.9
3 pEIL &=} =3 (7.4) 7.2 7.8 80|60 82|76 (7.0 7.4 7.2 15.96 6.72 22. 68
4 |FtR R Nyt A2 A 7.0 (6.8)(7.6) (7.4)| 7.4 7.4[6.8 7.2|7.4 7.0 15.26 6.48 21. 74
5 |7ERE KKn NI A 6.8 7.4 (7.2 (7.6)| 7.2 74|70 7.2](6.6) (6.8 14.7 6.6 21.3
6 |mEA&ER FK Ay (5.8) (6.2)|(6.4) 6.2 6.4 (6.6)] 6.4 6.6|6.4 6.6 13.44 5.82 19. 26
TONEK O EER NI A 6.2 6.8 [(6.6) (7.0)[(5.6) (5.6)] 6.0 6.4 6.0 6.6 12.74 5.94 18. 68
8 |E& FHME NI IHA (5.4) 6.0 |(6.6) (5.8)] 5.8 6.0 6.4 (6.6)] 6.0 6.2 12.74 5.46 18.2
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9 | KRk FhHAE] Frhy 5.6 (5.8)] 6.0 (6.2)] 6.0 5.8 [(6.4) 6.2 [(5.4) 5.8 12.32 5.34 17. 66
10 | EE A 5.6 5.6 (6.0 5.8|5.8 (6.0)[(.4) (5.2)[ 5.8 5.8 12.04 5.16 17.2
1 i 2 (0.0) (0.0)](0.0) (0.0)[ 0.0 0.0[0.0 0.0]0.0 0.0 0.0 0.0 0.0

ROUND1-G3
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T  4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 [&A& HER VN A (7.2) (1.8)| 7.6 7.8 |(7.8) (7.6)| 7.6 7.8 | 7.6 7.8 15.96 7.02 22. 98
2 |V AR D (7.2) 7.8 7.6 (8.0)[®.0) 7.8[7.6 7.8| 74 (7.6) 15.82 17.02 22. 84
3 [EHE Ky AT F (7.4) (1.4 7.8 8.2 7.6 7.4|7.4 7.6][@®0 7.6 15.96 6.78 22. 74
4 (AR Eh Fr by (7.0) 7.0 |(7.8) 7.2 7.2 7.2]|7.2 (6.8]7.2 (7.8 15.12 6.42 21.54
5 [1hmE  FHze D 6.8) (1.2)[(7.4) (1.8)| 7.4 7.2 7.0 74|70 7.2 14.98 6.54 21. 52
6 |faid &P A (6.6) 7.0 |(7.2) (7.4)| 6.8 (6.6)[ 7.2 6.6 6.8 7.4 14.56 6.3 20. 86
T |FBH B T UEA 6.8 (6.8)[(7.2) (7.4)| 6.8 7.0|(6.6) 7.2]6.6 6.8 14.14 6.3 20. 44
8 |/hm HEFH DAV (6.4) 6.8]16.6 7.0]|6.4 (6.6)] 6.4 7.0/(6.8 (7.4 13.58 6.24 19. 82
9 |G HE A 6.0 6.2 [(5.8) (6.0[(6.4) 6.2]6.2 (6.6)] 6.4 6.6 13.02 5.7 18. 72
10 [1H A A 6.0 6.2 6.2 (6.0[(6.4) 6.2[6.2 (6.4)[(.8 6.2 12.88 5.58 18. 46
11 B & (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0[0.0 0.0 0.0 0.0 0.0
ROUND1-G4

JEAE 4 Hi ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
1 [F Bk NI A (7.6) (7.8)] 7.8 (8.0)[(8.0) 7.8 8.0 80|80 7.8 16.66 17.08 23. 74
PR V7 N e yEA (7.2) (1.0)|(7.8) (7.8)| 7.4 7.2|7.6 7.4|7.4 7.6 15.68 6.66 22. 34
3 [ HEKR Vg 6.4 (7.0)[(7.4) 7.2(7.0 7.0(6.2) (7.49]7.2 7.4 14.42 6.48 20.9
4 ik E3F A 6.6 7.0[(6.4) (6.6)|(6.8) (7.2)] 6.6 7.2|6.8 7.0 14.0  6.36 20. 36
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5 [ER KK - (6.6) 6.8 ](6.2) (6.4)] 6.6 6.4|6.6 (7.2)] 6.4 6.4 13.72 5.88 19.6
6 |HME KA N (5.8) 6.4]6.2 (6.06.4 6.6[(6.6) (6.8)] 6.6 6.4 13.44 5.82 19. 26
7T O|WEA R Fr by (6.0) (6.0 6.2 6.0|6.4 6.2|6.4 (6.8](6.6) 6.6 13.3 5.64 18.94
8 (M B A 6.0 (5.6) 5.6 6.0 [(5.4) 5.8[6.2) 6.2[6.2 (6.4) 12.46 5.4 17.86
9 |&nH bR (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0]0.0 0.0 0.0 0.0 0.0
9 |EH A (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0]0.0 0.0 0.0 0.0 0.0
ROUND2-G1

JIE {57 4 Hi &4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1P == /XA R 8.0 (8.0)[(8.2) (8.6)[ 8.0 80|82 82|76 8.0 16.94 17.26 24.2
2 |l Es} TNV T 7 (7.6) (7.6)| 7.8 7.6 7.8 (7.2)[(8.2) 7.6| 7.6 7.6 16.24 6.84 23. 08
3 | H T e 7.6 7.6 (7.4 7.6 7.4 (7.2 7.8 7.6]|(8.0) (7.8) 15.96 6. 84 22.8
4 |EE B ==/ R 7.4 7.8 6.0 8272 7676 (7.49[7.4 7.4 15.68 6.84 22. 52
5 |FFR R =—/3A R (6.6) (6.8)(7.4) (7.0)[ 7.2 7.0[7.4 70|74 7.0 15.4 6.3 21.7
6 |k Eh NIy ay 6.8) 7.217.0 6.87.0 70|72 7.H[7.4 7.4 14.84 6.48 21. 32
T | L B T ay (6.2) 6.8 ((7.2) 6.6]6.2 (6.4)]6.8 (7.0 7.0 7.0 14.0  6.12 20. 12
8 & kL S (6.6) 6.6 |(6.4) (6.0)] 6.4 6.6 6.6 (6.8)] 6.6 6.6 13.72 5.94 19. 66

ROUND2-G2

JEAE 4 Hi ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
1 [F Bk T ay (7.8) (7.8)] 8.2 7.8|8.0 7.8]80 8.2](.38) (8.6) 16.94 7.14 24. 08
2 |k BEW NI ay (7.2) 7.8 1(8.0) (8.0)| 7.6 7.6|7.6 (7.4 7.6 8.0 15.96 7.02 22. 98
3 RR fEEERR T 7.6 (7.8)|(7.8) 7.6 |(7.4) 7.2 7.4 (1.0)| 7.6 7.6 15.82 6.72 22. 54
4 BrE KT =R 7.0 (1.2)[(7.4) (1.9|6.8) 7.2 7.4 72|72 7.4 15.12 6.54 21. 66
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5 |/ AR T (7.2) (7.0)| 7.0 (7.8)| 7.2 7.0[7.2 7.0][6.8 7.0 14.98 6.3 21.28
6 | HEX Tz v (6.6) 7.0] 6.8 (6.6)] 6.6 6.6] 6.8 6.6|(7.4 (7.2 14.14 6.06 20. 2
T |RE #Em =X — (6.2) 6.8]6.6 (7.0 6.4 (6.6)[ 6.8 6.8](7.0) 6.6 13.86 6.06 19.92
8 |k H:F e 6.4 (6.6)|(6.6) (6.8)|(6.2) 6.6 6.6 6.6|6.4 6.8 13.58 6.0 19. 58
SEMI FINALS-G1
JIE {57 4 Hi i IT 1A | 2T 2A | 3T 3A [ 4T  4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 [FrE INA T — 8.0 (7.8)|(7.6) 7.8 (8.2) (8.0)[ 7.6 7.8[8.0 7.8 16.52 7.02 23. 54
2 |l Es} A== g 7.4 (1.9 7.6 7.4(@B.0) (7.8)] 7.8 7.6 |(7.2) 7.4 15.96 6.72 22. 68
3 | H V2R Yay 7.6 7.4 7.6 7.4|(7.8) (1.6)|(7.4) (1.2)[ 7.4 7.2 15.82 6.6 22. 42
4 |EE B R =1 7.2 (1. 7.2 7.4|(7.4) 7.2 (6.8 6.8|6.8 (6.6) 14.84 6.42 21.26
SEMI FINALS-G2
JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
1 [F Bk At (8.0) 7.8 |(7.6) 7.8 7.8 (7.6)] 7.8 (8.6)] 7.8 8.0 16.38 7.08 23. 46
2 |k #EW N (7.4) (71.2)| 7.6 7.8 7.4 7.2](8.0) (8.0)]7.6 7.8 15.82 6.84 22. 66
3 ErHE KT T—F (7.4) (1.O|(7.0) (7.0 7.2 7.0[7.2 7.4|7.4 7.2 15.26  6.48 21. 74
4 KRR AR HHhy 7.2 7.4 7.2 (71.6)] 7.0 6.8 [(7.4) 7.0 [(6.8) (6.6) 14.98 6.36 21.34
BRONZE-G1
JIE {57 4 Hi i IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 PErHE K INA T — (7.2) (1.2)|(7.6) 7.4 7.4 (1.6)| 7.4 7.2|7.4 7.6 15.54 6.66 22.2

2 |l ==t 7 —F (7.0) 7.2 (7.2 1.2 7.2 (.| 7.2 (7.0 7.0 7.0 14.98 6.42 21. 4
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BRONZE-G2
JIEA £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T  7A | TEC  ATH Total
1 |l # T agVRLA 7.4 7.417.6) 7.4 7.6 7.2|7.4 (7.6)|7. 2 (7.0 15.68 6.6 22.28
2 |k BETR Bt A 6.6) 7.2 7.2 7.6 7.0 7.4|70 (6.8)][(7.6) (8.0 14.84 6.66 21.5
GOLD MATCH
JIEAE £ i ® 4 IT 1A | 2T 2A | 3T  3A | 41  4aA | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
IR 2V S =R/ N A (8.4) 8.2 |(7.8) 8.0 (7.8 (7.8)[(8.8) (8.6)] 8.2 8.0 8.2 (8.4 8.0 (7.6)[17.08 7.26 24. 34
2 |HrmE Fx&o¥T-r7—Yr27—|(8.6) (8.6)[(8.2) (7.8)|(7.6) 8.0 80 (8.4)(7.8) 7.8 8.0 7.8]|8.0 (6.8 16.8 7.08 23.88




